JIHE

®= £ N R *=
VESE IR
(== MRANBE (=S S
H =
O [FREMIER (FEE) | 488124+ 11.27 ha | 2Hk6 A OE A | S84E2H 13H f;;jj%i
@ Hit 5631 1 2.61 ha |ZRKEREAORA [ ST4E1LH14H




] H - il R
VEEFRE VESE G | R EH T4 ARNEE NBEEFESE | AT =
T 7~=
RERIE (FER) | AT - B NARELS 488 |Z 5.87 ha 5.87 ha |60
AREAREEZ35%
AZAVASE S
o=
I I I 488 13 3.51 ha 3.51 ha 694/
ABAREEZ34%
ATV A= T
I I I 489 |F 1.89 ha 1.89 ha |664F4
AREAKEEZ36%
& F 11.27 ha 11.27 ha
HitHf7 VNIRRT TR 563 UM 1 11.42 ha 2.61 ha
& Gt 11.42 ha 2.61 ha




